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QUESTION 1

Consider a network that has four PE routers. If a customer wants a VPLS that has sites on only three of the PEs, how
many mesh SDPs need to be configured for this service?

A.3
B. 4
C.6
D. 12

Correct Answer: C

QUESTION 2

Which of the following fields is NOT present in a GRE encapsulated VPN service packet?
A. DLC Header

B. Control Word

C. Transport Label

D. Service Label

Correct Answer: C

QUESTION 3

An IPv4 MPLS provider network is being configured for 6VPE. BGP is being used for the PE-CE protocol to exchange
IPv6 routes. Which of the following is FALSE?

A. MP-BGP in the provider network needs to support the VPN-IPv6 address family.
B. PE routers must be configured to run MP-BGP.

C. PE-to-CE BGP sessions need to be configured to support IPv6.

D. The provider network core must be configured to support IPv6.

Correct Answer: D

QUESTION 4

Which of the following commands would be used to configure a new VPLS service that will use a default vc-id of 5 and a
customer id of 4?

4A0-104 VCE Dumps | 4A0-104 Exam Questions | 4A0-104 Braindumps 2/3


https://www.geekcert.com/4a0-104.html
https://www.geekcert.com/4a0-104.html
https://www.geekcert.com/4a0-104.html

VCE & PDF https://lwww.geekcert.com/4a0-104.html
2024 Latest geekcert 4A0-104 PDF and VCE dumps Download

GeekCert.com

A. configure service vpls 4 customer 4 vc-id 5 create
B. configure service vpls 5 customer 4 create

C. configure service vpls 100 customer 4 vc-id 4 create
D. configure service vpls vc-id 5 customer4 create

Correct Answer: B

QUESTION 5

Which of the following about the components of a distributed service on the Nokia 7750 SR is TRUE?
A. A SAP can only be used by one service on a router.

B. A dedicated SDP needs to be created for each service.

C. A service is created on each site before the customer is created.

D. SAPs must be created before a service is created.

Correct Answer: A
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